
Order of Operations Additional Practice Solutions 

 

Now that you have completed the additional practice problems, check the solutions to see how well you 

did.  

 

1) 2 + 3 ∙ (8)  

 

            Solution: 48 

  

2) 
  

[ (     )]
 

 

           Solution: Undefined 

  

3) 37 − 1 ⋅ 62  

     

          Solution:  1 

  

4) 98 ÷ 2 ÷ 72  

 

           Solution: 1 

  

5)  (42 – 2 ⋅ 4)− 23  

 

Solution: 0 

 

  

6) 61−22+4[3⋅ (10) + 11]   

 

 Solution:   203 

 

  

7) 121− 4⋅[(4)⋅(5)−12] + (
  

 
)  

 

         Solution:  97 

  

8) 22 ⋅ 3 + 23 (6−2)−(3 + 17)+ 11(6)  

 

        Solution: 90 

  

9)  
[  (       )]

 
     

[  (      )]

  
   

 



        Solution: 29 

  

10) 
[(     )  ]

 
        

 

 Solution:  62 

  

11) 16 + 08 + 52∙ [(2 + 8) 3]  

 

 Solution:  25,001 

  

12)  
[ (   –   ⋅  )]

(    ) 
      

    

 

 

 Solution:   5 

  

13) 6(2 ⋅ 8 + 3) − (5 ∙ 2) + (
 

 
) + (1 + 8) ⋅ (1 + 11)  

 

 Solution:  214 

  

14) 26 – 2 ⋅ [
    

  
]   

 

 Solution:  22 

  

 15) (10 + 5) ⋅ (10 + 5) – 4 ⋅ (60 − 4)  

 

 Solution:  1 

  

 16)   [
(     )

    
] + [

(      ⋅  )

(     )
] 

 

 Solution:  14 

  

17) 51 ÷ 17 +7 − 2 ⋅ 5 (
  

 
)  

 

Solution:  -30 

 

18)  (21 − 3) (6 − 1) (6) + 4(6 + 3)  

 

 Solution:  576 
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